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Full Marks ; 50
Time: 2 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x4=4
oS fell erpTRs e fia

(a) Define arithmetic mean.
TG WY T | |
(b) Find range of the following data :
R SR TR Bfrea ¢
5 7,10, 15
(c) What does r = -1 mean?
r=-1a@ R
(d) Define an unbiased estimator.
PEISF SIS (BT Jgear ot |
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2. Answer the following questions : 2x3=6
Tore fl epTRa T f

(a) Find harmonic mean of 2, 4 and 8.
2, 4 9% 83 YT WY Sferear |

(b) Find mode from the following data :
G BT [l T Sfeea
X
10
20
30
40 10
50 3

W N n

(c) Mention two properties of regression
coefficient.

TR BRI KOI C3MBF ST 3991

3. Answer any two from the following
questions : 5x2=10

were fra ePIEd o R I Yo B fR

(@) Explain the merits and demerits of
median.

YA @ SF AR TR 340 1

(b) Explain the uses of MS-Excel software.
MS-Excel S¥5393 JqLT A0 391 |

A23/907 ( Continued )

(c)

A23/907

(3)

Distinguish between :

e e F41 :
(i) Positive and Negative correlation
NS WF FNAF 27T
(i) Simple and Partial correlation
T HF SRAF TR
(d) How are population parameters
estimated from sample data? Explain
briefly.
Afe S 21 R TR A AFei Q1
= 7 FLE TR
4. Answer the following questions : 10x3=30
v fra epTRd el fal
(a) Find arithmetic mean from the following
data :
To SR [l TG WY Sfevea
Marks - No. of Students
LEL) 7 -GG WIN
0-10 4
10-20 6
20-30 10
30-40 20
40-50 10
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(4)

Or / =%t
Find median from the following data :
o O+ Ty Sferea
X S
10 15
20
7 15
11 18
8 12

.(b) Find standard deviation from the

following data :
o B o o Roem Sfrear :
X f
6 3
7 6
8 9
9 13
10 8
11
12
A23/907 . (Continued )

(c)

A23/907

(5)

Or / 91

From the following data calculate
coefficient of correlation between X

and Y:

e O [/l X ¥ Y3 IO APTIR T

Sfovear :

From the following data,

X
65
66
67

67

68
69
70
72

Y
67
68
65
68
72
72
69
71

find the

regression coefficient of X on Y :
o OYR °Rl YT SRS X TARET BT

ferear :

X
46
42
44
40
43
41
45

Y
40
38

36

35
39
37
41
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(6)

Or / 9q1

Discuss the uses, merits and demerits
of rank correlation coefficient.

G TR BRI ERW, BT WF (PR
HCEoAT ¥4 |

* k&
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